BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 68
SIENNA MUNICIPAL UTILITY DISTRICT NO. 6
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
JANUARY 25, 2024
LJA ENGINEERING, INC.
C CORTEZ
JANUARY 25, 2024
1416-1568D (9.2)

TOTAL AMOUNT BID BIDDER'S NAME

BID INCLUDING ALTERNATE BID NO. 1 – WS&D FIELD CONDITIONS ITEMS

\$1,525,000.00

\$1,616,312.00

\$1,674,769.40

\$1,764,481.40

\$3,482,566.50

\$3,633,682.50

3) ARANDA INDUSTRIES, LLC.

1) CROSTEX CONSTRUCTION INC.

2) R CONSTRUCTION CIVIL, LLC

CALENDAR DAYS 40/50

SCOTT FRANKOVICH
3: 130312
CENSE

I, SCOTT FRANKOVICH, P.E., hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 68
SIENNA MUNICIPAL UTILITY DISTRICT NO. 6
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
JANUARY 25, 2024
LJA ENGINEERING, INC.
C CORTEZ
JANUARY 25, 2024

LIA JOB NO.		1	416-15660 (9.2)					
			1) CROSTEX CONS	TRUCTION INC.	2) R CONSTRUCTION CIVIL, LLC		3) ARANDA INDUSTRIES, LLC.	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER DISTRIBUTION SYSTEM ITEMS - INTERNAL (SIENNA MUD NO. 6)								
1 METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR PER GENE BAKES GBI PARTNERS, L.P., 281.499.4539, COMPLETE IN PLACE	R, LS	1	\$22,976.70	\$22,976.70	\$19,628,00	\$19,628.00	\$25,000.00	\$25,000.00
2 6" PVC WATERLINE, C-900, DDR 18, CL 235, ALL DEPTHS, COMPLETE IN PLACE	LF	1141	\$23.00	\$26,243.00	\$25.00	\$28,525,00	\$60.00	\$68,460.00
3 8" PVC WATER LINE, C-900, DR 18, CL 235, ALL DEPTHS, COMPLETE IN PLACE	LF	4154	\$32.25	\$133,966.50	\$38.00	\$157,852.00	\$80.00	\$332,320.00
4 6" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	4	\$1,185.00	\$4,740.00	\$1,300.00	\$5,200.00	\$2,250.00	\$9,000.00
5 8" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	17	\$1,750.00	\$29,750.00	\$1,950.00	\$33,150.00	\$3,500.00	\$59,500.00
6 FLUSHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, 6" LEAD, FLUSHING VALVE AND TRENCH SAFETY, COMPLETE IN PLACE	EA	12	\$6,400.00	\$76,800.00	\$6,450.00	\$77,400,00	\$11,000.00	\$132,000.00
7 CAST IRON FITTINGS, COMPLETE IN PLACE	TON	2.5	\$5,200.00	\$13,000.00	\$5,300.00	\$13,250.00	\$15,000.00	\$37,500.00
8 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	5295	\$0.01	\$52.95	\$0.10	\$529,50	\$1.00	\$5,295.00
9 SHORT SIDE DOUBLE OR SINGLE 1* CTS DR9 POLY TUBING WATER SERVICE LEADS, ALL DEPTHS, BACKFILL, METER BOX, CURB STOP, TAPS, AND ALL NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	39	\$660.00	\$25,740.00	\$750.00	\$29,250.00	\$2,000.00	\$78,000.00
10 LONG SIDE DOUBLE OR SINGLE 1° CTS DR9 POLY TUBING WATER SERVICE LEADS, ALL DEPTHS, BACKFILL, METER BOX, CURB STOP, TAPS, AND ALL NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	23	\$1,285.00	\$29,555.00	\$1,600.00	\$36,800.00	\$3,000.00	\$69,000.00
11 REMOVE AND DISPOSE OF EXISTING 8" PLUG AND CLAMP AND CONNECTION PROPOSED 8" WATERLINE, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$500.00	\$1,500.00	\$375,00	\$1,125.00	\$3,500.00	\$10,500.00
12 BORE AND JACK OR AUGER (WET BORE) OF 18" STEEL CASING FOR 8" WATER LINE, ALL DEPTHS ALL SIZES, EXCLUDES LINE PIPE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	59	\$20.00	\$1,180.00	\$20.00	\$1,180.00	\$350,00	\$20,650.00
13 BORE PITS FOR WATER LINE BORE, INCLUDES BORE PIT, DEWATERING OF BOR PIT, TRENCH SAFETY FOR BORE PIT, & FILLED WITH 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	E EA	19	\$200.00	\$3,800.00	\$100.00	\$1,900.00	\$750.00	\$14,250.00
14 16" ENCASEMENT FOR 8" WATER LINE, C-900, DR-18, CL 235, ALL DEPTHS, COMPLETE IN PLACE	LF	345	\$85.00	\$29,325.00	\$131.00	\$45,195.00	\$200.00	\$69,000.00
15 BORE AND JACK OR AUGER (DRY BORE) OF 16" STEEL CASING FOR 8" WATER LINE, ALL DEPTHS ALL SIZES, EXCLUDES LINE PIPE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	286	\$200.00	\$57,200.00	\$200.00	\$57,200.00	\$650.00	\$185,900.00
WATER DISTRIBUTION SYSTEM ITEMS - INTERNAL (SIENNA MUD NO. 6) SUBTOTAL:				\$455,829.15		\$508,184.50		\$1,116,375.00
SANITARY SEWER SYSTEM ITEMS - INTERNAL (SIENNA MUD NO. 6)								
1 8" PVC SEWER PIPE, ASTM D 2241, SDR 26, CLASS 160, 0" – 12' DEPTH, COMPLETE IN PLACE	LF	2960	\$36.25	\$107,300.00	\$38.00	\$112,480.00	\$100.00	\$296,000.00
2 12" PVC SEWER PÎRE, ASTM D2241, SDR 26, CLASS 160, 0' - 12' DEPTH, COMPLETE IN PLACE	LF	792	\$62.50	\$49,500.00	\$57.00	\$45,144.00	\$120.00	\$95,040,00
3 STANDARD SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDING INFLOW PROTECTOR AND RAMNEK AT ALL JOINTS, COMPLETE IN PLACE	EA	23	\$4,600.00	\$105,800.00	\$5,100.00	\$117,300.00	\$7,500.00	\$172,500.00
4 EXTRA VERTICAL DEPTH OF STANDARD SANITARY SEWER MANHOLES, (OVER 8 DEPTH), COMPLETE IN PLACE	' VF	12.85	\$460.00	\$5,911.00	\$350.00	\$4,497.50	\$500.00	\$6,425.00

1416-1568D (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 68 SIENNA MUNICIPAL UTILITY DISTRICT NO. 6 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS

JANUARY 25, 2024 LJA ENGINEERING, INC. C CORTEZ JANUARY 25, 2024

1416-1568D (9.2)

				(5.2)					
				1) CROSTEX CONS	TRUCTION INC.	2) R CONSTRUCTIO	N CIVIL, LLC	3) ARANDA INDUST	RIES, LLC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	5' DIAMETER SANITARY SEWER MANHOLE, (0' – 8' DEPTH), INCLUDING INFLOW PROTECTOR AND RAMNEK AT ALL JOINTS, COMPLETE IN PLACE	EA	6	\$6,200.00	\$37,200.00	\$7,300.00	\$43,800.00	\$10,000,00	\$60,000.00
	EXTRA VERTICAL DEPTH OF 5' SANITARY SEWER MANHOLES (OVER 8' DEPTH), COMPLETE IN PLACE	VF	11.17	\$620.00	\$6,925.40	\$600.00	\$6,702.00	\$750,00	\$8,377.50
5	LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, 3DR 28, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND 3ACKFILL, RISER, WYE, PLUG, STACK, MARKER, DROP STRUCTURE, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	1000	\$48.00	\$48,000.00	\$52.00	\$52,000.00	\$150.00	\$150,000.00
:	SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, STACK, MARKER, TRENCH SAFETY, DROP STRUCTURES, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	21	\$1,815.00	\$38,115.00	\$1,450.00	\$30,450.00	\$3,000.00	\$63,000.00
	T.V. INSPECTION OF SANITARY SEWER LINES (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	3752	\$2.00	\$7,504.00	\$2.00	\$7,504.00	\$5.00	\$18,760.00
10	RENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	4752	\$0.05	\$237.60	\$0,10	\$475.20	\$1,00	\$4,752.00
11 1	FINAL ADJUSTMENTS TO SANITARY MANHOLES, COMPLETE IN PLACE	EA	29	\$100.00	\$2,900.00	\$100.00	\$2,900.00	\$150.00	\$4,350.00
	REMOVAL OF EXISTING 8" SANITARY PLUG AND CONNECT TO EXISTING 8" SANITARY SEWER LINE, COMPLETE IN PLACE	EA	1	\$100.00	\$100.00	\$140.00	\$140.00	\$3,500.00	\$3,500.00
	REMOVAL OF EXISTING 12" SANITARY PLUG AND CONNECT TO EXISTING 12" SANITARY SEWER LINE, COMPLETE IN PLACE	EA	1	\$100.00	\$100.00	\$250.00	\$250.00	\$5,000.00	\$5,000.00
SANITA	ARY SEWER SYSTEM ITEMS - INTERNAL (SIENNA MUD NO. 6) SUBTOTAL:				\$409,593.00		\$423,642.70		\$887,704.50
DRAIN	AGE FACILITIES ITEMS – INTERNAL (SIENNA MUD NO. 6)								
	24" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	3827	\$81.50	\$311,900.50	\$92.00	\$352,084,00	\$150.00	\$574,050.00 .
	80° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	250	\$103.25	\$25,812.50	\$118.00	\$29,500.00	\$200.00	\$50,000.00
	66" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	65	\$142.75	\$9,278.75	\$163.00	\$10,595.00	\$400,00	\$26,000.00
	STAGE I – STANDARD 5' PRECAST INLET ("H-2") ALL DEPTHS, (INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE I INLETS), COMPLETE IN PLACE	EA	34	\$2,000.00	\$68,000.00	\$1,200.00	\$40,800.00	\$3,500.00	\$119,000.00
	STAGE II - STANDARD 5' PRECAST INLET ("H-2"), (INCLUDES TEMPORARY SAND- FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL.), COMPLETE IN PLACE	EA	34	\$980.00	\$33,320.00	\$2,550.00	\$86,700.00	\$2,500.00	\$85,000.00
	STAGE I - STANDARD 10' PRECAST INLET, ALL DEPTHS (INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE 1 INLETS), COMPLETE IN PLACE	EA	3	\$2,000.00	\$6,000.00	\$1,450.00	\$4,350.00	\$5,000.00	\$15,000.00
5	STAGE II - STANDARD 10° PRECAST INLET, ALL DEPTHS (INCLUDES TEMPORARY SAND FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE	EA	3	\$1,100.00	\$3,300.00	\$2,550.00	\$7,650.00	\$5,000.00	\$15,000.00
	TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	23	\$3,125.00	\$71,875.00	\$3,250,00	\$74,750,00	\$6,500.00	\$149,500.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 68
SIENNA MUNICIPAL UTILITY DISTRICT NO. 6
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
JANUARY 25, 2024
LJA ENGINEERING, INC.

C CORTEZ JANUARY 25, 2024 1416-1568D (9.2)

				10 10005 (0.2)					
		1) CROSTEX CONSTRUCTION INC. 2) R CONSTRUCTION CIVIL, LLC		ON CIVIL, LLC	3) ARANDA INDUSTRIES, LLC.				
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	NALL 4 SIDES, PER CITY OF MISSOURI CITY DETAILS, IRY SILT BARRIER FENCE), COMPLETE IN PLACE	EA	15	\$3,200.00	\$48,000.00	\$3,000.00	\$45,000.00	\$1,000,00	\$15,000.00
10 CITY OF MISSOURI CI OF WS&D (PERCENTA COMC), COMPLETE IN	TY (COMC) CONSTRUCTION PERMIT FOR CONSTRUCTION NGE OF WS&D CONSTRUCTION COST AS REQUIRED BY I PLACE	LS	1	\$17,560.00	\$17,560.00	\$23,000.00	\$23,000.00	\$75,000.00	\$75,000.00
11 TRENCH SAFETY SYS	TEM, ALL DEPTHS, COMPLETE IN PLACE	LF	4142	\$0,05	\$207.10	\$0.10	\$414.20	\$1,00	\$4,142.00
12 FINAL ADJUSTMENT	OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE	EA	23	\$75.00	\$1,725.00	\$100.00	\$2,300.00	\$150.00	\$3,450.00
13 FINAL ADJUSTMENT 3 SECTION, ALL SIZES,	TO EXISTING STORM SEWER MANHOLES WITHIN THE COMPLETE IN PLACE	EA	29	\$100.00	\$2,900.00	\$250.00	\$7,250.00	\$150.00	\$4,350.00
SITE, INCLUDES EXC	EWER, AND STORM SEWER UTILITY SPOIL TO BE USED ON- AVATION, HAULING, PLACED AND COMPACTED TO 95% R DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	CY	9200	\$1.50	\$13,800.00	\$1.00	\$9,200.00	\$10.00	\$92,000.00
SPECIFICATION NO. 4	EMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA 711, INCLUDES INSTALLATION AND REMOVAL (TO BE USED IY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00
	AL DESILTING OF STORM SEWER WITHIN THE SECTION I'ON, COMPLETE IN PLACE	LF	6742	\$2.00	\$13,484.00	\$2.00	\$13,484.00	\$10.00	\$67,420,00
WITH "V" BOTTOM, IN SEEDING PER SWMH: DIRECTED BY THE EN	E SWALES WITHIN RESERVES "A" AND "B", 3:1 SIDE SLOPES CLUDES EXCAVATION, HAULING, GRADING, HYDROMULCH CA SPECIFICATION NO. 4241 (TO BE USED ONLY AS GINEER) SPOIL TO BE PLACED ONSITE AND COMPACTED ROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN	LF	6305	\$3.00	\$18,915.00	\$3.00	\$18,915.00	\$15.00	\$94,575.00
	SE OF EXISTING 8" BRICK PLUG AND CONNECT PROPOSED DEPTHS, COMPLETE IN PLACE	EA	23	\$500,00	\$11,500.00	\$650.00	\$14,950.00	\$3,500.00	\$80,500.00
19 ANY REQUIRED FORT	BEND COUNTY PERMIT	LS		\$500.00	\$500.00	\$500.00	\$500.00	\$5,000.00	\$5,000.00
DRAINAGE FACILITIES ITEM	IS INTERNAL (SIENNA MUD NO. 6) SUBTOTAL:				\$659,577.85		\$742,942.20		\$1,478,487.00
MISCELLANEOUS ITEMS									
	FOR VARIANCE REQUESTS SUBMITTED BY THE ENGINEER CONTRACTOR, (TO BE USED ONLY AS DIRECTED BY THE TE IN PLACE	EA	0	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00
2 STANDARD DEDUCT I COMPLETE IN PLACE	FOR STREET CLEANING (AS DIRECTED BY THE OWNER),	HR	0	-\$125.00	\$0.00	-\$125.00	\$0.00	-\$125.00	\$0.00
	FOR DAMAGE TO WETLANDS FENCING BY THE RECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	0	-\$10.00	\$0.00	-\$10.00	\$0.00	-\$10.00	\$0.00
	FOR DAMAGE TO TREE MARKED FOR PRESERVATION, (TO RECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	0	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00
MISCELLANEOUS ITEMS SU	BTOTAL:				\$0.00		\$0.00		\$0.00
ALTERNATE BID NO. 1 - WS	&D FIELD CONDITIONS ITEMS								
	NUGER (WET BORE) OF WATER LINE, ALL DEPTHS, ALL IE PIPE, (TO BE USED ONLY AT THE DIRECTION OF THE TE IN PLACE	LF	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$100.00	\$10,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 68
SIENNA MUNICIPAL UTILITY DISTRICT NO. 6
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
JANUARY 25, 2024
LJA ENGINEERING, INC.
C CORTEZ

				,					
				1) CROSTEX CONS	OSTEX CONSTRUCTION INC. 2) R CONSTRUCTION CIVIL, LLC		3) ARANDA INDU	STRIES, LLC.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	NE BORE, INCLUDES BORE PIT, DEWATERING OF BORE BORE PIT, & FILLED WITH 95% STANDARD PROCTOR ACE	EA	2	\$500.00	\$1,000.00	\$100.00	\$200.00	\$750.00	\$1,500.00
	F WAY (ALL DEPTHS, THIS IS AN ESTIMATED QUANTITY WRITTEN DIRECTION OF THE ENGINEER), COMPLETE	LF	2224	\$20.00	\$44,480,00	\$20.00	\$44,480.00	\$30.00	\$66,720,00
	R (WET BORE) OF SANITARY SEWER, ALL DEPTHS, ALL IE, (TO BE USED ONLY AT THE DIRECTION OF THE PLACE	LF	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$120,00	\$12,000.00
	SEWER BORE, INCLUDES BORE PIT, DEWATERING OF Y FOR BORE PIT, AND FILLED WITH 95% STANDARD LETE IN PLACE	EA	2	\$500.00	\$1,000.00	\$100.00	\$200,00	\$750,00	\$1,500.00
	SSOURI CITY MODIFIED "A-A" SANITARY SEWER ILY AS DIRECTED BY THE ENGINEER), COMPLETE IN	LF	1188	\$12.00	\$14,256.00	\$12.00	\$14,256.00	\$15.00	\$17,820.00
7 CEMENT STABILIZED SAND COMPLETE IN PLACE	(TO BE USED ONLY AS DIRECTED BY THE ENGINEER),	CY	500	\$20.00	\$10,000.00	\$20.00	\$10,000,00	\$50.00	\$25,000.00
	SSOURI CITY MODIFIED "A-A" STORM SEWER BEDDING, ECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1036	\$16.00	\$16,576.00	\$16.00	\$16,576.00	\$16.00	\$16,576.00
ALTERNATE BID NO. 1 – WS&D F	ELD CONDITIONS ITEMS SUBTOTAL:			·	\$91,312.00		\$89,712.00		\$151,116.00
BIDDING SUMMARY				A A A					
SUBTOTAL WATER DISTRIBUTION	SYSTEM ITEMS - INTERNAL (SIENNA MUD NO. 6)				\$455,829.15		\$508,184.50		\$1,116,375,00
SUBTOTAL SANITARY SEWER SY	STEM ITEMS - INTERNAL (SIENNA MUD NO. 6)				\$409,593.00		\$423,642.70		\$887,704.50
SUBTOTAL DRAINAGE FACILITIES	S ITEMS - INTERNAL (SIENNA MUD NO. 6)				\$659,577.85		\$742,942.20		\$1,478,487,00
SUBTOTAL MISCELLANEOUS ITER	MS				\$0.00		\$0.00		\$0,00
TOTAL AMOUNT BASE BID ALTERNATE BID NO. 1 - WS&D F	ELD CONDITIONS ITEMS				\$1,525,000.00		\$1,674,769.40		\$3,482,566.50
TOTAL AMOUNT BASE BID					\$1,525,000.00		\$1,674,769,40		\$3,482,566.50
SUBTOTAL ALTERNATE BID NO. 1	- WS&D FIELD CONDITIONS ITEMS	~			\$91,312.00		\$89,712.00		\$151,116.00
TOTAL AMOUNT INCLUDING ALT	ERNATE BID NO. 1 - WS&D FIELD CONDITIONS ITEMS				\$1,616,312.00		\$1,764,481.40		\$3,633,682.50

JANUARY 25, 2024

1416-1568D (9.2)